R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4925.dwg, TX-4925

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

DIRECT GLAZED FIBERGLASS DOORS
DOUBLES
w/ or w/out SIDELITES

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

DESCRIPTION

Typical elevations, design pressures & general notes
Door & Sidelite panel details

Elevations

Horizontal & Vertical Cross Sections

Vertical Cross Sections

Frame anchoring & Hardware details

Bill of materials & components

SHEET #

Novjo| B[ WIN|—

152" MAX. OVERALL FRAME WIDTH

SOV
St
STxTEind
&gt
LAY
we 8
of ;_
[»\\; oK
0
"z?’&"'-«..zz
Ry x5

T

) 37.5" MAX.
74" MAX. FRAME WIDTH FRAME WIDTH
T
e
5 2
o = =
n_ 3&
— O
<
i2és)| O X 5 7
T 43 [°
02 <5
<Z 20
& 3
(©) in I
% N
o~ ~
o~
[ | ~l1s
X X
@
O}
XX

P
LN
S g n
33 o o
ES ) Hg
£ n Z~
0" M £
ou o Om  9F
LY N T
()] "-l-.@ 3k
S§ &om <
X Zz 84 22
cr S twp Q20
> O W0k
) 309 A<
a>r0 w e
Z o Bm
i3 omM T O
@ ONO oW
©
O xz
K z 8 L<5L._
5 a2 _o©o
a 250 ©
[ S50c¢ 51(}‘-‘_-'
& Do 3%
o9
0 [
€ 0nE
(7] <
£ X
=] =L
[8]
o)
o
(9p]
=
[Cle)
n
o W
S °F
=S| &6
8((9) i !:'-('_,—)l
a< |7 S
= as) a,,g
o2 |3
T 17 m
am 0l -
= < <[]:
.. [ QD
3} % z9
o n
> =0
=] =
o e £
@ < o
o o
21>
Yo

REVISIONS

5/26/20 |[UPDATE TO 2018 IBC/IRC CODE

NO,| DATE

1

'(‘i

DATE: 4,/29/19

SCALE:

N.T.S.

DWG. BY:

MT

XX 74.0" x 98.0" DLP N/A +45.0 -50.0
149.0" x 98.0" DLP N/A +40.0 -40.0

OXXO
152.0" x 98.0" DLP 2X +45.0 -50.0

CHK. BY:

LFS

DRAWING NO.:

TX—4925

SHEET 1 oF 7/

/

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4925.dwg, 2.3

3.65" - SO e
n AT e s
04" —— = INTERIOR SxTi00 =5 @
L T Jo o
_ FAGERES Ex 2 BB
Y O O T 1) O O Y 2058 tO S . Z -
(e T ot I O I e I O \ / LT g,_"j ngﬁgi
NERERRRERRER - RERRREREERRR o P T
2 e atet g pT2
||1\|&||| RERRRRRERRER ~ 50, VBT o 53 250 4
.. : R = Tt 29
LA ) = L I B 2N [ 558 0
- N[ F i o Zow 5h
CAP (PVC) shfﬂyu =S (COMP.) - e 5 8<% Eﬁ
P [ON. 34
1"\ HORIZONTAL CROSS SECTION | B za, by
2/ - 2 268 B
. = Do 6('2
e e n § mug.
35.75" MAX. PANEL et |5 2%
WIDTH FIBERGLASS SKIN — [, - " - E K 58
24.813'D.LO. T 3
r* WIDTH \TZEZT)
N
| 2
GLASS BITE N
INTERIOR — 3/4" OVERALL GLASS THK. s =%
z3 o=
- z
A \\ 1/8' TEMPERED GLASS on |3 55
L INTERIOR SE |9 3=
to % = | X PA EXTERIOR INTERIOR '.Qgé 3 S&
. b /i =
o S | /;7 t \\\\—ARSPACE " s S
= I 1" o [t
5 L < . / 1/8" TEMPERED GLASS @/ S :
= 2 ‘ ALUMINUM SPACER :
o = EXTERIOR Q%
Z 0 - ~ GLAING
a 3 TAPE "
< O GLAZING DETAIL &
< Ir - * Gl 8
5 o © [——— -
QR o IR )
= ? [P T 8 %
L. W b= O
®f |
ALTERNATE DEADBOLT SPACING . s =
:A",:..V. '9 (08
S
SEE DOOR LOCK v T tu
HARDWARE TABLE | IS §
FOAMCORE —[[» . . 5
...b .P a
3 E\‘ N\
L NE
N O
lp)
_lo
zZ

40 PLASTPRO DOOR PANEL

@PLASTPRO SIDELITE PANEL

FIBERGLASS SKIN: 0.075" MIN. THK.

KWIKSET

KNOB:
DEADBOLT:

SIGNATURE SERIES

SIGNATURE SERIES (980)

+45/-50

+45/-45

BOTTOM RAIL —|
(COMP.)

/ 2"\ VERTICAL CROSS SECTION

\2/

OATE: 4,/29/19

SCALE:

N.T.S.

DWG. BY:

MT

CHK. BY:

LFS

DRAWING

NO.:

TX—4925

SHEET 2 oF 7/

FOAM CORE: XPS FOAM (1.3 PCF MIN. DENSITY)

/

/

© 2019 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ aNIgling "M"'d 6102 @

258LL—4 # NOILVYLSIOZY 40 3LvOI4IL¥3D SNOISIASY
SY3IINIONI TVYNOISSIH0¥d 40 a¥vO8 SvXaL SNOLLYATTI A8 31vd [ON
[ —— 1S47] 3000 0¥1/281 810z OL 31vadn| 0z/9z/S | |
BEBED 4 SEBA OFF xog .o.a\\\bg "ATN3SSY 80 1avd
"ONI ‘SINVIINSNOOD ONIaTING

MT
LFS
oF _7_

N.T.S.

3

4000 SSY194348l4
SZLHOL# '3'd SvX3l "“ONI' 04d1LSY1d
‘3'd ‘IPlWYDS 4 uopuk :Ag peupdaid sjuswnoog :10NAaoyd

TX—4925

DATE: 4,/29/19

SCALE

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

oz'2-

)
p aﬂr no-.cn:.-:o
\{n\d&/ ...mvwmzwo

of
-

111

3

Q
a0

S £2 _...m-.@.m..:...”.r:.
Gt

1LAQINHOS 4 NOGNAT

) ecoe ::-.oo:.-.;::.o::ao-..
ceecs

X

e kS
b g
2%
!

Skhy
20

AN

5
Mgy

<
Q

1 W.f.......... ~C
Sﬁwﬁm_ﬂmﬁ?&.

Q

ELEVATION
OXXO

ELEVATION
XX

€'€ 'BMp'sz6Y-X L\sBuimesd - D\ioedwi-uoN paze|9 103410 2501 ¥Q - IALNAL - S\LNINVINYId du] ‘oidise|d\siualD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4925.dwg, 4.3

0.15" C-SINK
(TYP)

-v\\\\\‘.’\\\\\\\\\\\\\\\\\\\\\\\\%\\\\

”

~

¥
7
N
N
-

%7

EXT. SHEATHIN

Glg

m HORIZONTAL CROSS SECTION

W Ouftswing shown (Inswing similar)

\\

INTERIOR

/ DRYWALL

SEENOTEN"

\\

EXTERIOR

A [
N

50)

EXT. SHEATHING ‘\

/~2°\ HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)

\\

AU VAN
NAAMAW VETPFTFR . BN
L1111

SEENOTE 1

AN

NN

m HORIZONTAL CROSS SECTION

SHE

m HORIZONTAL CROSS SECTION

\4/ Outswing shown (Inswing similar)
Back-to-Back Jambs

INTERIOR

EXTERIOR

w Outswing shown (Inswing similar)

NOTES:

2. Spacing for item J @ head & sill: 6" from ends (2 total).

EXT. SHEATHING \

EXTERIOR

A\

m VERTICAL CROSS SECTION

W Outswing shown (Inswing similar)

1. Spacing for item J: 6" from each end and 5 more equally
spaced along sidelite jamb (7 total).

o

SEENOTE 1

g

&

A\

3 60

7”6 \ HORIZONTAL CROSS SECTION

)

\4/

Outswing shown (Inswing similar)
Shown w/ 2X Reinforcement

INTERIOR

R
=

=

EXT. SHEATHING \ )

-

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

DRYWALL

SEE NOTE 2 @/

EXTERIOR

T

A\

INTERIOR

/4 \ VERTICAL CROSS SECTION

W Outswing shown (Inswing similar)

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

<
(‘)m
o ~
GO =z
=0 wo
Oy |y S
A1) o n
a o| =
=3 |2 =0
U)Q LJ ZU')
Sx | §9
Fu |9 Qx
L@ g =0
S5l = |l S
3 o T
S &
& &
>_
Ll
]
Q
o
1§}
&)
X
S |»
o [z
o
2| @
(@]
@
x
o
M
<
()
a
>
&
N[
o=
(<
‘N[=]
mn
—lo
z
oaTE: 4/29/19
SCALE:  N.T.S.
_|owe. BY: MT
CHK. BY: LFS
DRAWING NO.:
TX—4925

SHEET 4 oF 7

© 2019 R.W. BUILDING CONSULTANTS INC.



“ON| SLINVLINSNOJ 9aNIa1Iing "M'd 6102 ©

ZSgLL—4 # NOILVHLSIOSY 40 3LVOI4ILyID SNOILLDIS SNOISIATY
SY3INIONI TVNOISS3408d 40 Q¥V08 SvXalL SSOND WILLYIA A8 d1vad [ON|o| . - 7_
L6L6'6S9'TLR 'ON BuoUd S41| 3000 2¥I/081 8102 OL 31vadn| oz/9z/s | L | |U|5|L| &
. . - KIN3SSY 90 Lavd =T o8
G6SET "4 O9HIDA 0£Z Xog On_\;\&y % = o o
"ONI ‘SINVLINSNOD 9NIATING N g | 5_
4000 SSY19¥3814 S 5] gle x
SZLYOL# "3'd SvX3L ONI' 04dISVld i d || e
‘3'd ‘IPIWYDS "4 uopul :Ag pedspdaud sjuswnoo(q 1109Na0yd .DM g W W m %
l
~0
", 0
....:.“
£]
.............. “
¥ ]
ixd
b, & &%Mmc
- V ........... /‘ ~
1. AXS
wah...mru..m_dw?.( o = ”
2 u
[a)]
3 ¢
° =0 & B
5 5
a0 ﬁ-....u. >
“ o) i
= - ONE
) i
S 4 . 3
Z (¥) I _nuu
- o (@)
< Qo £ o
P’b .\m.v - 7771777, \\ /117 \\ 2, ANU ac\vu
wln..A = = O .n\uu
[a]
® > (=)o) 8
C e
™0 . | |
2 il 9l
= AN LTI RANT _m >
z w|S
- >0
I mw
oz
g (9
m—
i 3
=
(@)
S
” (2]
(7]
o
oz
C —
o 35
o (@) n.nuU L
= =B o
z ] | 5 9 =
>|0 o & o
m ® 28
‘\@ NE DOK:
24 )
®) 17
. ® S
£ O
=
Ulo
IS
wila
> >
1 mW
5
oz (@]
L 8 D2
[UN] (W)
a & S S
N O = <
= O o
~ <
ala) O 3
._w_. (5]
o (73 m
D ~0 (2] =
S :
e (&) =
= o3
<=
Vig5 3
| £
Z ] w2 e
o3
o
[« =
3 @
o iyl 5
= 2S
= wi|'o —
0|82
Zlwnn O

§ 'BMpSz6p-X1\sBumelq - D\idedw|-uoN paze|s 1211 £50L ¥d - IALNIAL - S\LNINVINYId du] ‘oidiseld\siualiD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4925.dwg, 6

z @ -\,‘\:"\"C\’}l‘\ll E ]
2= o * 0t 52 U
3" (TYP.) —— ' e I =24 SOl 4 S Ex g uBd
: ; 4" (TYP - " 5 o Wi Baf. i5E Sy ¢ GT
2 IR = é == 9 2" (TYP) J ke 2|2 E=F )\ iRiIR e 27, 24
4 (TYP) ——| o) [ 4" (1YP.) ——| & (1Y) — me) [ = ¢ ﬁig&%ém 5 g 428 O
= : - hO% i i0 53 £ .0
I 1 | L[ I 1 T[Tt | Eﬂg TR ., 8! g zfg 28
- ~ - - - _ 8l9%-. 0} . SRR
SEE f Y- ﬁ: 1"1{’& o S g b
SEE .o DETAIL 1 .o S ERN s % gR. zo
DETAIL 1 o = o DN ]_ ? M ) oNg el
= — - = - — — - i 3 Z 8 6u
HEAD & JAMBS HEAD & JAMBS i 115 2 345 o
(TYP.) (TYP.) MULLION o & m§& 33
™ . ° i
B | N - BACK-TO-BACK T ~ (19) #8x 1-1/2'PH . & g
JAMBS  1vp) SELF-DRILLING 3 =
s SMS 8
— — — — — T g] 2
- ~ - - - — i * 5| o2
oo 28 Elhy
Q CONCRETE e Q CONCRETE e B 5 = o8
Jg 4= . o |5 28
i SEE 0 WOOD ] 2; » - ° WOOD SEE - = S,; — I 1 & B3 || <=
< 2 <C B @ o Wa
DETAIL2 /St qrve, =3 SILL (TYP.) DETAIL 2 = /g]] }14{%% T =8 |4 3%
- e —_— — LT e = ol &
- L1 N l l LT L1 U LT | el iiE;H S
T 1] < | | 1 s e
r )] - e —] — ol P S
XX OXXO ' PR 2l
HINGE JAMB ASTRAGAL L
DLP 3
NOTE: FRAME CORNERS ATTACHED w/ FRAME ANCHORING o
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.) 2
NR%
@% I
1 ol 1©
= (2]
o o (@) >
e 7@ Ol Q2 N
o | =2 =@ S
o [ Oz Q|2 L
S £ 5o -
CONCRETE )< o< @ S
ASTRAGAL STRIKE PLATE \ NS 16— 5
(1.19"x 3.25") P ) wooD W ] W NI / S
N[
HINGE DETAIL /@ - o NE
=y — INSWING el | gé
Tt oY = e [l =) T (18) =
DATE: 4,/29/19
" \ ___L (] (
DETAIL 1 DETAIL 2 DETAIL 2 3/8" @ BOLT HOLE \\ E @ SCALE.  N.T.S.
Astragal Strike Plate @ Head Astragal Strike Plate @ Sill  Astragal Bolt Hole @ Sill W owe. B:  MT
Inswing Threshold Outswing Threshold OUTSWING CHK. BY: LFS
LATCH & DEADBOLT DETAILS DRAWING NO.:
Astragal TX—4925

HARDWARE DETAILS

SHEET 6 oF 7/

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4925.dwg, 7

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 2X FRAMING (G >= 0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" @ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
G 3/16" @ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
J #10 X 2" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
P #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL
1 POLY FIBER JAMB COMP
2 FINGER JOINT PINE JAMB WOOD
6 DOOR SWEEP PVC
7 WEATHERSTRIP FOAM
9 #9 X 3/4"' PFH WOOD SCREW STEEL
11 4" X 4" HINGE STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
16 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 INSWING THRESHOLD ALUM/COMP
28 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
29 OUTSWING THRESHOLD ALUM/COMP
30 ADA THRESHOLD ALUM
35 ASTRAGAL (DLP) ALUM
40 DOOR PANEL -
50 SIDELITE PANEL -
CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintain the min.

—_—

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

1-3/4" — 3 1-1/2"

W BUILDEX | _3/16"
TAPCON 14" 1-3/4" 7 I
EI.CO n " " "
uLRacON® | 14 1-3/4 1 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws fo prevent the splitting of wood.

I-I-II"')
n ﬂ-N
4,56 o 0
2o 4
€ N W
- - o F Ou  Om o
0 R S T r 2 Z
o~ . : . P2 o = .~ W
1 b i T . g 5 el
— ’ . s |
L , ':l- ) G s 2.5 2
: . in ‘ v 28a Z
P | i ‘ 55558 g
2.44" o 2 5 ©
I 1 %>Q ﬁ
g3° ¢
) o 14
POLY FIBER JAMB @ oY o
O Xz
Plastpro PF Jamb 3 zZ8, 6
e
g 255 ¢
() Do._c [\
& maoo <oi
§ m
'9 7]
~—1.75" 3 <
. E g x
w
8 [
[*)
o

(]

5/16" @ SLIDE BOLT
- (20" LONG w/ 2"

2.88"
Sk

0.75"

—{ 1.25" ’<7
o
&

THROW @ EACH END)

g — ] S
©=\ CONCEALED
FINGER JOINT PINE JAMB 1\ STIFFENER
2 (ALUM. - 4' LONG)

(: :) DLP ASTRAGAL

i 212"
L; 457" T
o~
: hid:
= - .
T ! 4.57" ,!
INSWING THRESHOLD INSWING THRESHOLD w/ SIDELITE ADAPTER
27 oie 2850
lte———— 455 —— =]
T ’C/ =

i 4.56"

A € oy

29 ) OUTSWING THRESHOLD 30 }ARA THRESHOLD
DLP (QOSR) DLP

‘*— 1.75" ——-‘

s

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC.
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

LFS
BY

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO.| DATE

REVISIONS

OATE: 4/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4925

SHEET / oOF 7/

© 2019 R.W. BUILDING CONSULTANTS INC.



